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1. Which of the following statements is incarrect?
(8) 22500 = 1001, (63 31675 = 1213134, (6} 10110100 100111115 = BAIF g () AdFyg = 5107
(&) None of above,
2. What is the larpest positive integer that an 8-bit two's complement notetion can represent?
() 128, (b} 127. (¢} 256. (d) 255. (e} 64.
3. Which of the following statements is the best deseription for “pipelining™?
{a) A means of processing more than one instruction at & time.
[b) A means of isoluting particular bits within a bit partern,
() The interface between a computer and a peripheral deviee,
(d} A& menns of restricting the capabilities of different processes.
{e) A means of sncoding instructions.
4, Which of the following s a protocol for controlling the right to transmit 4 message in a network?
() TCP, () FTP. (¢) ICANN, (d) CSMA/CD. (g} UDP.
Which of the following tasks is not performed by the kernel of an operating system?

w

(a) Process scheduling, (b) Resource aliocation, (¢) Deadlock aveidance, (d) Cache block replacement. (&) File

allocation.

6. Which of the following programs can self-terminate?

() X3 (6) X +13 &) X3 (d} X3
while (X = ) do while (X < 8) do repeat (X «— X =1) repeat (X «— X—1)
HeX-D) XeX-1) ustil (X > §) unti] (X =13)

{e) Nene of above,
7. Which of the following statements is incorrect?
{8) nlogr == OY), (5) 02" > C{nl). (&) 210000 = (2. (d) 3n+ 2’ = O(x"). (&) Olnl) > Oln'™.
8. Which of the following is the postfix notation of the infix notation 4/2 —(3+3%6)+4*43 7
(a) ALG56% —43%+, (b) 423 —5H6%4+3%, (¢) —/A2++3*55%40. (d) 4235643 —+74*, (g) I*A+675-53 2.
9, (= XYZ+XYZHXYZ+XYZ is functionally equivalent w?
(8) ¥'XAZ, (D) YZ+X'Z". () YZ=XY", {d) Y'Z'+XZ. (¢) None of above,
10. Whick of the following combinations about the tree traversal is correct?
(a) Pre-order: ABCEDGF, In-order: ECBDAFG, Post-order: ECDBGTA. (b) Pre-order; ABDECFG, In-order:
DBEAFCG, Post-oréer: FGCDEBA. () Pre-order: ABCEDFG, In-crder: CEBDAGE, Post-order: ECDBGFA. (d)
Pre-order: CGFAEBD, In-order: FCGADBE, Post-order: FGCDEBA, (¢) None of above.
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11. Which of the following logic gate combinations can impl any bi 1 Beoleen function?
(2} AND, NOT. (b) XOR, NOT. (¢) XOR. AND. (d) XOR, OR. (e} AND, OR.
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12, Which of the following algorithms require the use of a queue?
{a) DFS of a graph. (b) BFS of a graph. (c) Pre-order traversal of a tree, (¢} In-crder traversal of a tree. () Post-order

traversal of a tree, (f) Level-order traversal of a tree,
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13. Dispatch latency. 14, Context switch, 15, Temporal locality. 16, Power wall. 17. Page fault. 18. Data hezard,
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19, Draw the min-heap tree after the following operations are performed beginning with an empty heap.
1. Insert 33, 21, 58, 13,
2, Delete min.
3. Insert 41, 32, 43, 59.
4, Delete min.
20. The following is & function for computing the sum of all the elements in an array, Here, lis(] is the tarnget array and
is the element count in lisi[]. Lo this program, thers is en incorect statement. Find out the statement and correct it.

float rsumi float fisf], int n)

{
il (m) return rsumlise, &) -+ dstln—1];
renm 0;

}

21, Order the following steps for adding a node with a value 5 Into the linked lst in between node 3 and node 7 in the

corresl sequence.
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1. Setthe link field of node 3 to the address of the new node.

2. Setthe dacm field of the new node to 5 and find the location {nods 2) for inserting the new node.
3 Create & new node,

4. Bet the link field of the new node to the link feld of node 3,

12, Consider a non-pipelined machine with five execution steps of lengths 50ns, 60ns, 60ns, 60ns, and 50ns. Suppose
that due to clock skew and setup, pipelining the machine adds 5ns, 10ns, 5ns, 10ns, and 10ns, of overhead to the five
execution siages, respectively. [gnoring any latency impact, how much speedup in the instruction execution rate will
we gain from a pipeline?

13, Consider the following set of processes, with the length of the CPU burst time given in milliseconds:

Process Burst Time Priority
P1 4 2
bird k] 3
3 3 5
P4 8 1
i ik 4

The process ere assumed to have arrived in the order P2, PS, P3, P1, P4, all at time 0. What is the average waiting
time for the non-preemptive SIF scheduling algorithm?

Plol 102101




